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enVision Math 2. - 2 and S as Factors Practice

Find the missing product or factor.

| 2x3= 2. 9% =10 3. xY4=20

H 9x 2= 5. 9 X =35 6. x2=8 %

7 S 8 2 q. 9 %
X 3 x 8 X 5 %

0. 6 5 2 5 %
X 2 X 8 x| %

3. 6 4. 2 15 9 %
X 5 x 7 x 9
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enVision Math 2. - 2 and S as Factors Practice
Answer Key

Find the missing product or factor.

L 2x3=_6 2.9%x_2 =10 3 _9 xY4=20

4 9x2=_18 5 95x 7 =35 6. 9 x2=8
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enVision Math 2.2 - 9 as a Factor Practice

Find the missing product or factor.

| 9x 3= 2. 9%

0. What is 9 X 6? |l What is 9 x 97

12. What is 9 X |? I3. What is 3 x 9?

4. What is 9 x O? 15. What is 7 X 9?
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enVision Math 2.2 - 9 as a Factor Practice
Answer Key

Find the missing product or factor.

. 9x3=_27 25x 9 =45

4.

I
x 9
q

0. What is 9% 6? __ 34 Il Whatis9x9? 8|

2. Whatis9x1? __9 3. What is 3 x9? __2/

4. Whatis9x0? 0 5. Whatis 7x9? 63
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enVision Math 2.3 - Properties: Multiply by O and | Practice

Find each product.

. Ix5= 2. 6x0= 3. 3xI|=

Y. I N 0 6 q
X 2 x 7 x 0

7 8 8 Y q 0
x | x | X 6

Write <, >, or = in each O to compare.

0. 1x6( ) 0x6 Lox4()uxo
2.0x7() 7xI 3 3x1 ()Ix3
4 8x1()8x0 5 9%0( )1x9
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enVision Math 2.3 - Properties: Multiply by O and | Practice
Answer Key

Find each product.

L Ix5=_25 2. 6x0=_0 3. 3x1=_3
Y. I N 0 6 q
X 2 x 7 x 0
2 0 0
7 8 8 Y q 0
x | x | X 6
8 Y 0

Write <, >, or = in each O to compare.

0. 1x6(>) 0x6 L ox4(=)uxo0
2. 0x7(<) 7x| 3 3x1(=)Ix3
4 8x1(>)8x0 5 9% 0(<)1x9
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enVision Math 2.4 - Properties: Multiply by 10 Practice

Find each product.

. Yx 10 =
0 0 20 30 w 50
2 3x10 =
0 0 20 30 w 50
3 1x10=__ 0 4 IOx5= 0 5. 9x10= 0
6 6x10= 7 2% =20 8. 70 =10 x
9 Y x =40 0. 80 = 10 x L 0xI0=
'.L s -




enVision Math 2.4 - Properties: Multiply by |10 Practice

Answer Key

Find each product.

L4xi0=_40
| 2 3 4
N Y YT Y
0 0 20 30 W 50
2 3x10=_ 30
| 2 3
N YT Y
0 0 20 30 W 50
3 1x10= 1 0 4 10x5= 5 0 5. 9x10= 9 0
6 6x10=_60 7 2% 10 =20 8 70=10% 7
9 4x 10 =40 0.80=10% 8 L 0xI0=_0
.-} s -
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enVision Math 2.5 - Multiplication Facts: O, |, 2, 5, 9, and |0 Practice

Find each product.

. 6Xx3= 2. 9x7= 3.2x0=__
Y. =qxYy 0. 3x2= 6. =9 x|
7. 8 8. S q 6
x 10 X 3 X 2
0. q 1 10 12. 7
X 5 x 0 x|
I3. What is 2 x 87 4. What is 5 X 10? 15. What is O x 0?
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enVision Math 2.5 - Multiplication Facts: O, |, 2, 5, 9, and |0 Practice

Find each product.

|l 6x3= 18
4 36 =9xHY4
7. 8
x 10
80
0. q
X 9
45

13. What is 2 X 8? |16

Answer Key

2.9%x7=_33

5.3%x2=_6

4. What is 5 % 10? 50

32x0=_0
6. 9 =9x|
q 6
X 2
12
12 7
x|
v

15. What is O X 0? O
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enVision Math 2.6 - Model with Math Practice

Randy bought Y t-shirts. Kim bought 6 t-shirts. The shirts cost $5
each. How much did the kids spend on t-shirts in dll?

What is the hidden question you need to
answer before you can solve the problem?

Solve the problem. Complete the bar
diagrams. Show the equations you need.

How would your equations change if
Kim only bought Y t-shirts?




enVision Math 2.6 - Model with Math Practice

Answer Key

Randy bought Y t-shirts. Kim bought 6 t-shirts. The shirts cost $5
each. How much did the kids spend on t-shirts in all?

. What is the hidden question you need to Check students’
answer before you can solve the problem? drawings.
How many t-shirts did the kids buy in all?

2. Solve the problem. Complete the bar
diagrams. Show the equations you need.

$50;4H+6=?,4+6=10;

0 x $5 = ?; 10 x $5 = $50

3. How would your equations change if
Kim only bought Y t-shirts?
Sample answer: I would need to find
the cost of Y t-shirts and Y t-shirts;

H+4=?,4+4=8;
8 x $5="7;8x8§5=§40
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